
FINAL EXAM REVIEW

I. U
.

r=.2m= > 20am
⊖:{ = > ÷ =

.

950^-544.430

① = ?

5=1 9cm

b
'

g=⊖r =
> 5=1.6751403--6 >< 02M

D-= 96° = > 1
.
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5- ?
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.

First, break
UP the 2 triangeg

=> Cosas's = }÷g

÷
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'

' 515105C /5) =h,
840

gy,?⃝ ,, ,,g,,
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840m
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'

. 84005020)=hz

ha - h
,

= > 840605122°) - 515105485=281.
382M

b.

µ÷.
Sins8=3%0 Sinai __ ¥3⇔?F÷÷ 3405in58°-_ da 1935in21° = dz

d. 1- dz= > 3405in 58°
+1935in 210=357501



}
'

U
. Cos (-1353--1051225) : - %
*
-13s is co terminal with 22s

cos (2-1350)=105127003--0

cost 's):( ◦ Sasso))≥=⇐z§=
b. Sint- ¥

, )=sin( ¥)= - ¥
sin
'

=§in¥I=(EI=É
sin 2 . = sin =D



4.a. Use the format D= cecosbt [ No d value given]

- find a tb

= > amplitude given as 3cm
,
so la/ =3

- but
,
were given that it starts at -3cm

,
50

w= - 3

= > were given the period Cbs)
,
so 2-5=6 = > b. = = Eg

i. D= -3605C 'Ét)

b.
- again, find at b

in for
D= - 155in (Et )

⇒ U is given as 15
,

so 191=15

- but
,

it says it initially moves downwards( negative)
,

so a must be - IS

= > 15=4 .

'

.

b. = 2¥= ¥

i. D= - 155in ( Et)



5. A. Cot × 1-1=0 or CSCX - l - o b. Coty - v5 :O or zcosx -52=0

lot ✗ = - I cscx = I [ 0# = V3 Cob ✗ = E-

cot is -1 at 3¥ +¥ Csc is 1 at Iz cot is But +7¥ cosx is Ez at ¥t¥

C. 25in ✗HE :O or 2105×-05=0

Sink =
- Ez c◦sx=↳z

binx - - % at t EY c◦sx=↳z at +
"÷

b. U,
3Cot2x-1=0 .

'

. Cot = ± Igor ± %
cot is 7s at It 4¥

,

+ - I} at ¥ +5¥

b. Sect-2=0 .

-

,
secy:X

Secx is V2 at +2¥ & - ra at 3¥ +5¥

[
,

4105×-3=0 . : cos -_FE or IF

cos ✗ =ʳE at Iot
,

t - F. at Itt>÷



7. U. tank- YJ = - tune

=>5in[ñ
COSCIT- ×)

Quotient rule

⇒

s.is?:::-::::::Y-.. sum + difference

=> 0 . cosy -1 1 . Sir ✗
evaluate

i.io#-.sinx--s%f5-=-tanx Quotient Rule

b. Sin ( ¥ ") - since - ×) : sins
it

= > sinsxtcosEgsinx-f.si#sx - cos sin ×] Sum t difference

= > 2<05 Eg Sinx Evaluate

= > z.dz Sine = Sink

L Cos ( it + ×)
- = Cotx

ios(¥ - ×)
= > 10514105✗ - Sink 5in ✗

sum & difference
cos 105×1- sinE-sine

⇒ - l ' COS × - 0 . Sine
evaluate

0' Cosy t -l ' sing

= >

-%?n→= cotx quotient rule



8. a . sÉ=s¥⇒⇒a= • sinus]
Sinus]

A -118 a= ?
a- 110<6

B- 30° b. = ?

sin÷=si%sy=>bj.no#jSincsDC-35° [ = >o

b- 61

Next
,
find angle A or C

1- 1- Btc = 1800
b. 5inch) SINCB)

b2=a2tc
≥
- Zac COSB a-

=

b- 11,796+117011=180

C=S 1,204
sincts-si-BJ-eb-F.EE

b

b=rÉÉÑ
A- sin"(%?%) --11.296°

b. = 69,74

4.
214

a. 14=7.71-10
.

> sinCt) ' }t= sin"(¥
>) t-t-H-sin-1.to?-. )

6.3 =s;nc2¥£ )
- 'et "¥"?⃝ t.bz?-+sinY!?-.Jtt-- ¥+4T- sin"C÷} ))

sin (uj=Y÷> = > u=sin"(%÷) t -

_ 6 days 2- = 2s days

- let u = 20

b. RIOT:Visjn = >
43s __¥;n÷ = > since -_FÉo

Sinks -_%÷ = > u=siñ'(¥5)
i.

2-0 -

- Sin
- ' (4%8) & 2-0=14 - Sin

_ '
( ITE )

⊖=ñ-sin;c¥G- = sinÉ)
-0=1.28

⑦ I. 29




